Chapter 5 Practice Test. Trigonometry
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MULTIPLE CHOICE. Choos¢'the one alternative that best completes the statement or answers the question.

Complete the identity. _ . . X = R
1) seex=——=? T ¥ Foc x  CosiX | ) __ 7\
sec x
ot
[ A) sin x tan x B) -2 tan x C) 1+ cotx D) sec x csex
- / S . Sne) Sin X DSaxcesx dcosiX = |
. 2 o, of & FLLARY ¥ ’ __'?_" - - g 1 ViAW DL ljl_.' >
(sin x + cos X) i RESES 4 s / 2) =
1+2sinxcosx )
A)1-sinx B_ill )0 D) - sec? x
SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.
Verify the identity. Cos U, O
3) cot 68 -sec 8 =cscB : 3) =
4) (1 + tan2u)(1 - sin2u) = 1 ) 1)

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Find the exact value of the expression. i A i }TT:’_” /2

5) cos (260° - 20°) 5% DHO A 1 /9 5)
N 1 13 /. A3 A3
Ay = B) - — C) -— e
W2 "3 )= )72

6) m{%'ﬂ MDY / : 6)
/23 1 1
(&) B) 5 a1 D)2

7) cos (155°) cos (35°) +sin (155°)sin 35°) (o5 ( P27 2> J = &% { \ &2/ R "\_
A)-Af3 B)-% C)i% D) -2

Use the given information to find the exact value of the expression.

8) sina= %, a lies in quadrant I1, and cos = %, p liesin quadrantI  Find cos (a - 3). 8)
A)6—43/ﬁ' B}6+4\fﬁ /o) 8 + 3421 D)8—3:Jﬁ
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Find the exact value by usmg a sum or d!fference 1dent1ty o \} E [._-_- > [ (V - J2r _’:_.,L =\ 2\
9) sin165° = S 451120 25120+ cos'sSln 20 T RN ? 9)
JREVEIVER: . B) - \EM -1) «/_(‘\/5 +1) (D) 263 -1)
4 4 \_ 4
10) cos (45° + 60°) LT 0LL0 T Py = o 10)
Ay N2653-1) By AR26B-1 ¢y 265+ 1) Dy 263 +1)
4 1) 1 4 4
Find the exact value of the expression. cn [185-68) = Sin |20 !C.‘_\Jr___ et
11) sin 185° cos 65° - cos 185°sin 65° = L ° ! ' '- =" i)
3 1 37 A3 "
A) - =~ B) - — C)— . ==
) ) 2 ) 12 D) 2
: 15):.&;5 278 L R smz_'_[ sy - 51 ':: ".:5-\_ N 18" a ~..;12 2
{ 9 L 18 - ... 3 R
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SHORT ANSWER. Write the word or phrase that best completes each statement or answers the question.
Verify the identity. X (055 Gis = O Glax * Laks
13) co{x+%J:—sinx 13)
3 =
14) si - 9= -cos B 14)
MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.
Use the given information to find the exact value of the expression.
2 o
15) sina = 5—;, a lies in quadrant I, and cos p = 1—53, p liesin quadrant]  Find cos (a + B). = Vot 15)
135 WY, 12 2 L s 352
A) = — ’ 2 B) A = St
) =377 —-?-:‘"::";l* 87 377 I 377 P) 377
16) cos o= - 2_, o lies in quadrant ITI, and sin B = [3 liesin quadrantIl ~ Find cos (& + B). ' 16)
P py 214 2470 -1.8+ 7«/ > o za8- 721 Dy 14 - 2421
| //= S 125 125 125
Use trigonometric ldentltles to find the exact value _ - ™~ 7
) tan 40° + tan 110° o S e I T tan 199 3 17)
1 - tan 40° tan 110° ‘ '3
' 3
A)=2 B) /3 (c)- \3/_ D) --21-
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Find the exact value under the given conditions. bt +Aen B -
18) sinazi—g, Ué{]d%} cos [ :4;-3-, 0<p <% Find tan (e + ). |- tancdterne " 5 o 18) ™
627 “\ 627 364 644
i (B)~ —=2 s Dy
725 L ) 364 £ 725 ) 725
1) tana= ﬂ<a<%; cos =~ ;é zaﬁcz Find tan (a+B). (= Tan t8n > 7 ”1_9) 5
e SOOI s ™ 156 e
468 B o /155 11 o 155
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Use the figure to find the exact value of the trigonometric function, —_
20) Find tan 26. 20) P
_{...|/ _20: 2 +t4 & i 21 7 B ,
25 f
24
g
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527 336 528 ) 336
Sl B) — Sl [ Dy
) 625 ) 625 ) 527 D) 527
Use the given information to find the exact value of the expression. - ! o < 8= 2 ginbeos "f
21) cos  =—, B liesin quadrantIV.  Find sin 20. | i ‘:\ 2 YL Yoy 7
y 840 840 41 41
)1 i By - ol
) 841 ) 841 ©) 841 b 841
I 2 (”_ : 774\
22) sin 6 ===, Oliesinquadrantll  Find tan 26 } T %)
25’ 4 ‘ L
336 (2 336 336 - + 37306
B =7 L o
)- 527 '\.__4,)) 527 B 625 <27
Write the expression as the sine, cosine, or tangent of a double angle. Then find the exact value of the expression. ~
23) 2 sin 120° cos 120° 1N 2 Gl 23y C
1 1 Y 7y Al o A3
2 s (c) A= _0 2
& 2 Y v &) 2. C) 2 . ) 2
Evm AVEY = ¢in MO £ i v

SHORT ANSWER. Write the word or phr.ase that best completes each statement or answers the question.

Verify the identity.
24) cos 40 = 2 cos2(20) - 1 24)
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I.-' I.-_']; : r:_ [ 7 LS |
|




MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

Rewrite the expression as an equivalent expression that does not contain powers of trigonometric functions greater than

-

1. 7 { 1Ll P X 1 Ay 56 3¢ ) - . -
o ] o A L S C A —_ e | \_ I T Lo &—X J = L £ .'. ) ! P’
25) 8 cos? x = /7 oy ' 25)
A) 1 +cos2x By4-4cos2x | C) 4 + 4 cos 2x D) 16 cos x
26) 2 sinZ x cos2 X - — = b Z 26) -
A)—l--lcos4x B)lsinb{ C)l i cos 2x D}l lcos-b(
2 2 o I v | =< Yx 4 4 4 4
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Use a half-angle formula to find the exact value of the expression.
27) sin 75° 27)
{E’j%«/zﬂﬁ ""'B)% 23 C)—% 3 = f3 D)—%'\’2+/\/§
28) Cos?' Cog = ; 3 N X = il 28) 8

{}Q_j%«/z_ﬁ B)——'\; Bt C)—«i R 2 D)—; 2+~2

Use the given lnformatmn to find the exact value of the trigonometric functhn . T
I IT‘_;—'F NS . 4 :
29)sin B = Tél- 0 lies in quadrant]  Find sin g - : .' '__”:5;4— _ 4--%‘-'"— e 29)
L (ayn8- 24[15 By N8+ 24/15 C}l@ D) AJ10
4 4 4 4 il
: . ‘ 0 . R, A - < 1=
! 30)secO=4, Bliesinquadrant]  Find cos i | [Tlanl e | B - 30)
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31)sin B =- %, - Bliesin quadrantIV ~ Find sin g = fe—& - T_F /7231) C
Y 2 J z e
A) - AS NT\'?,TL_L B) - ~/30 D) ig_
s SN 10 5
Express the product as a sum or difference. . o A _
32) sin 8x cos 4x = d [ gn (Sx+x )+ S (8- 4 32) (0
A) %(sin 12x + cos 4x) B B) %(cos 12x - cos 4x)
/‘ h \1
*' C) (sm 12x + sin 4x) D) sin (cos 32}(2)
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33) sin 2x sin 5x > | U5 ( Ko ) T O \ )0
A) -1-{cos 7x -sin3x) - O ; B) l(— cos 3x - cos 7x)
I_r' St 1 - ’- l_'_'__: o i | - o j
[ C) Z(cos3x - cos 7x) D) sin? 10x2
2 =4 ( Cot2. }
= 7 7% 06 |
Express the sum or difference as a product. ;.
34) cos 9x - cos 3x L 7N = eoepy — &
A) -2 cos 6x sin 3x ( B)1-2 sin 6x sin 3x C) 2 cos 3x D) 2 cos 6x cos 3x
35) sin 8x - sindx - 5 e L% e LG &1L 2>92
A) 2 cos 4x cos 6x B) 2 sin 6x cos 2x (C) 2 sin 2x cos 6x D) 2 sin 2x

Use substitution to determine whether the given x-value is a solution of the equation.

it g G e
(A)Yes B) No -
_ -,—\:;‘
37) tanx:—%_é, x:—;- A | .
(A) Yes —A A 55
Find all solutions of the equation. éi
-. i #
38) tanx = T 23 I \ > 2 s
A)x ="+ 2nm B)X:EE‘”W -/8\ =2 +nn D)x:z—ﬂ+2nﬂ
6 6 "J 6 3
’ (. i ‘." \ ‘ b
39) 2sinx-4/3=0 s 03 (ZAZ
A)x=%+nﬂ0rx:27ﬂ-+nr{ v T B)><=-g—+2n?'{0rx=-5£+2nn
s 5m (3 i T 9
C)x=—+nnorx=—=+nn g ( D)x=—+2nmorx=—+2nmn
6 3 N ij-ﬁ Lo r 4 3 3
40) 5 sin x = 8~/2 = 3 sin x- 7~/2 . D
-:A)X=E+2nﬂorx:%{-+2nﬂ _ B)X=54—n+nrr.0rx:@-+nn
C)x—5ﬁ+2nﬂ'orx—7—ﬂ+2n* { D)X—Eq.n*‘(orx._S_ﬂ_i_n.—.—{
= 1 T = 1 27T ’ XL = 1 7 P 1 7
i, L
Solve the equation on the interval [0, 2m). B
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42) cos? x+2cosx+1=0 p ¢, =4
o (1 o) g n 7 n 3m
A Gl | (1) B) 27 e e BT
@l ¢ § e )4 a P2

43) 2 sinZ x = sin x - {
m 2m A n 5m '
A —_—— — )l 7 B _—— =0
2 2 : T ) 6 6 FHJO/P_I
B *_’)|-\’ Y SR v =0 _§|-ﬂ v=0 “ 7 <] WY
e (25m% )20 oot
44)cosx=sinx - _ =
: Squse betly cies - ¢
D ,’_J'.'" r—[ 7?‘[ B) 3_.-’"[ 5_""[
C L)S“; )} 4 & O, 20-0 474

45)tanx +secx =1 =
0= TLaTh  or

A0 (2 B) no solution
ety .:' ke s - .. i ___:L_'_,_,_ ' _:\/ | -
46) sin? x - cos? x = 0 e v iy T 25
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Solve the equation on the interval [0, 2r).
47)tan? xsinx =tan2 x L0 X 50— Lo
s s (7Y =, ’ ~
A 0;_ B —,2; \\\__ o N —_, 7
03 B g B (B~
: = p . ;
Solve the equation on the interval [0, 2m). B ' —

~ _ i ;r g 2 Tl
s y R L I GaX COS = _ Loy
48) sm[x+-aﬂ+sm{ ﬁ D4ﬂ]=1 SinX Lo Fcf s %5 ’ q T s
dginx o sli= )
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5m bm 3 5T 5t 7w A
A)—, — B) —,— "y

)26 T /o jC}]zL ) Ol 3“,
2] B = - Y- Sl fk"b

Use a calculator to solve the equa’aon on the interval [0 2m). Round the answer to two dec1ma1 places.

Co¥e”

49) cosx = 0.74 1A a \ 07

A)0.74,388 T B)O 74 5. 55 C)0.74,2.31 D) 0.74,2.40
50) sin x = -0.36

A)0.37,5.91 : B) 0.37,3.51 _ C} 3 51 5 91 D) 0.37,1.94

/

Use a calculator to solve the equation on the interval [0, 27t). Round to the nearest hundredth of a radian.

51)sin2x-sinx=0

A)0,1.05 3.14,5.24 B) 0, 2.09,3.14, 4.19
©)0,2.09, 4.19 D) 1.05,3.14, 5.24
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